

ON THE DEGREE OF APPROXIMATION OF FUNCTIONS  
BY CERTAIN NEW BERNSTEIN TYPE POLYNOMIALS

ANWAR HABIB

Department of Physics and Mathematics, College of Education,  
University of Basrah, Basrah, Iraq

(Received 27 May 1980; after revision 2 February 1981)

The results of Bernstein (1912-13) and Popoviciu (1935) are extended for Lebesgue integrable functions in  $L_1$ -norm by the newly defined polynomials

$$A_n^\alpha(f, x) = (n+1) \sum_{k=0}^n \left( \int_{k/(n+1)}^{(k+1)/(n+1)} f(t) dt \right) p_{n,k}(x; \alpha),$$

where

$$p_{n,k}(x; \alpha) = \binom{n}{k} \frac{x(x+k\alpha)^{k-1} (1-x+(n-k)\alpha)^{n-k}}{(1+n\alpha)^n}.$$

1. INTRODUCTION AND RESULTS

If  $f(x)$  is a function defined on  $[0,1]$ , the Bernstein polynomials  $B_n^f(x)$  of  $f$  is

$$B_n^f(x) = \sum_{k=0}^n f\left(\frac{k}{n}\right) p_{n,k}(x) \quad \dots(1.1)$$

where

$$p_{n,k}(x) = \binom{n}{k} x^k (1-x)^{n-k}. \quad \dots(1.2)$$

Bernstein (1912-13) proved that if  $f(x)$  is continuous in the closed interval  $[0,1]$ , then

$$B_n^f(x) \rightarrow f(x), \quad \dots(1.3)$$

uniformly as  $n \rightarrow \infty$ . This yields a simple constructive proof of Weierstrass's approximation theorem.

A more precise version of this result due to Popoviciu (1935) states that

$$| B_n^f(x) - f(x) | \leq \frac{5}{4} \omega_f(n^{-1/2}) \quad \dots(1.4)$$

where  $w_f$  is the uniform modulus of continuity of  $f$  defined by

$$w_f(h) = \max \{ |f(x) - f(y)| : x, y \in [0, 1], |x - y| \leq h \}.$$

A slight modification of Bernstein polynomials due to Kantorovič (1930) makes it possible to approximate Lebesgue integrable functions in the  $L_1$ -norm by the modified polynomials

$$P'_n(x) = (n + 1) \sum_{k=0}^n \left( \int_{k/(n+1)}^{(k+1)/(n+1)} f(t) dt \right) p_{n,k}(x) \quad \dots(1.5)$$

where  $p_{n,k}(x)$  is as defined in (1.2)

By Abel's formula (see Jensen 1902)

$$(x + y + n\alpha)^n = \sum_{k=0}^n \binom{n}{k} x(x + k\alpha)^{k-1} (y + (n - k)\alpha)^{n-k}. \quad \dots(1.6)$$

If we put  $y = 1 - x$  (see Cheney and Sharma 1964)

$$(1 + n\alpha)^n = \sum_{k=0}^n \binom{n}{k} x(x + k\alpha)^{k-1} (1 - x + (n - k)\alpha)^{n-k},$$

or

$$1 = \sum_{k=0}^n \binom{n}{k} \frac{x(x + k\alpha)^{k-1} (1 - x + (n - k)\alpha)^{n-k}}{(1 + n\alpha)^n}. \quad \dots(1.7)$$

Thus, defining

$$p_{n,k}(x; \alpha) = \binom{n}{k} \frac{x(x + k\alpha)^{k-1} (1 - x + (n - k)\alpha)^{n-k}}{(1 + n\alpha)^n} \quad \dots(1.8)$$

from (1.7) we have

$$\sum_{k=0}^n p_{n,k}(x; \alpha) = 1. \quad \dots(1.9)$$

Now we define a polynomial analogous to (1.5) as

$$A_n^\alpha(f, x) = (n + 1) \sum_{k=0}^n \left( \int_{k/(n+1)}^{(k+1)/(n+1)} f(t) dt \right) p_{n,k}(x; \alpha) \quad \dots(1.10)$$

where  $p_{n,k}(x; \alpha)$  is as defined in (1.8), and moreover, when  $\alpha = 0$ , (1.8) and (1.10) reduce to (1.2) and (1.5), respectively.

The functions (see Cheney and Sharma 1964)

$$S(v, n, x, y) = \sum_{k=0}^n \binom{n}{k} (x + k\alpha)^{k+v-1} (y + (n-k)\alpha)^{n-k}$$

satisfy the reduction formula

$$S(v, n, x, y) = x S(v-1, n, x, y) + n\alpha S(v, n-1, x+\alpha, y)$$

such that

$$xS(0, n, x, y) = (x + y + n\alpha)^n. \quad \dots(1.11)$$

By repeated use of reduction formula and (1.11), we may show that

$$S(1, n, x, y) = \sum_{k=0}^n \binom{n}{k} k! \alpha^k (x + y + n\alpha)^{n-k}$$

Replacing  $k!$  by  $\int_0^\infty t^k e^{-t} dt$  and using Binomial theorem, we obtain

$$S(1, n, x, y) = \int_0^\infty e^{-t} (x + y + n\alpha + t\alpha)^n dt. \quad \dots(1.12)$$

Similarly

$$S(2, n, x, y) = \sum_{k=0}^n (x + k\alpha) \binom{n}{k} k\alpha^k S(1, n-k, x+k\alpha, y)$$

reduces to

$$S(2, n, x, y) = \int_0^\infty e^{-t} dt \int_0^\infty e^{-s} ds \{x(x + y + n\alpha + t\alpha + s\alpha)^n + n\alpha^2 s(x + y + n\alpha + t\alpha + s\alpha)^{n-1}\}.$$

In this paper we shall prove the corresponding results of approximation due to Bernstein and Popoviciu for Lebesgue integrable functions in the  $L_1$ -norm by our polynomial (1.10) in terms of  $L_1$  modulus of continuity.

$$w_f(h)_{L_1} = \sup_{|t| \leq h} \int_0^1 |f(x+t) - f(x)| dx.$$

In fact, we state our results as follows:

*Theorem 1* — If  $f(x)$  is a continuous Lebesgue integrable function on  $[0, 1]$ , the relation

$$\lim_{n \rightarrow \infty} A_n^{\alpha}(f, x) = f(x)$$

uniformly on this interval.

*Theorem 2* — Let  $f(x)$  be a continuous Lebesgue integrable on  $[0, 1]$ , then

$$| A_n^{\alpha}(f, x) - f(x) | \leq \frac{5}{4} w(n^{-1/2}) L_1.$$

2. PROOF OF THEOREMS 1 AND 2

To prove our results we need the following lemmas (see Anwar Habib and Umar 1980.)

*Lemma 1* — For all  $x$  in  $[0, 1]$

$$\sum_{k=0}^n k p_{n,k}(x; \alpha) \leq \frac{nx}{1+\alpha}.$$

*Lemma 2* — For all  $x \in [0, 1]$

$$\begin{aligned} & \sum_{k=0}^n k(k-1) p_{n,k}(x; \alpha) \\ & \leq \left\{ n(n-1)x \left( \frac{x+2\alpha}{(1+2\alpha)^2} + \frac{(n-2)\alpha^2}{(1+3\alpha)^2} \right) \right\}. \end{aligned}$$

*Lemma 3* — For all values of  $x$  in  $[0, 1]$  we have

$$(n+1) \sum_{k=0}^n \left( \int_{k/(n+1)}^{(k+1)/(n+1)} (t-x)^2 dt \right) p_{n,k}(x; \alpha) \leq \frac{x(1-x)}{4}.$$

*Proof of Theorem 1*

For all  $x \in [0, 1]$ , we have

$$\begin{aligned} & | A_n^{\alpha}(f, x) - f(x) | \\ & = (n+1) \sum_{k=0}^n \left( \int_{k/(n+1)}^{(k+1)/(n+1)} | f(t) - f(x) | dt \right) p_{n,k}(x; \alpha) \end{aligned}$$

(equation continued on p. 886)

$$\begin{aligned}
&= (n+1) \sum_{|t-x| < \delta} \left( \int_{k/(n+1)}^{(k+1)/(n+1)} |f(t) - f(x)| dt \right) p_{n,k}(x; \alpha) \\
&\quad + (n+1) \sum_{|t-x| \geq \delta} \left( \int_{k/(n+1)}^{(k+1)/(n+1)} |f(t) - f(x)| dt \right) p_{n,k}(x; \alpha) \\
&= I_1 + I_2, \text{ (say)}
\end{aligned}$$

where

$$\begin{aligned}
I_1 &= (n+1) \sum_{|t-x| < \delta} \left( \int_{k/(n+1)}^{(k+1)/(n+1)} |f(t) - f(x)| dt \right) p_{n,k}(x; \alpha) \\
&\leq \frac{\epsilon}{2} (n+1) \sum_{|t-x| < \delta} \left( \int_{k/(n+1)}^{(k+1)/(n+1)} dt \right) p_{n,k}(x; \alpha) \\
&\hspace{15em} \text{(by uniform continuity of } f) \\
&\leq \frac{\epsilon}{2} (n+1) \sum_{k=0}^n \left( \int_{k/(n+1)}^{(k+1)/(n+1)} dt \right) p_{n,k}(x; \alpha) = \frac{\epsilon}{2}. \quad \dots(2.1)
\end{aligned}$$

Now we evaluate  $I_2$

$$\begin{aligned}
I_2 &= (n+1) \sum_{|t-x| \geq \delta} \left( \int_{k/(n+1)}^{(k+1)/(n+1)} |f(t) - f(x)| dt \right) p_{n,k}(x; \alpha), \\
&\leq 2M (n+1) \sum_{|t-x| \geq \delta} \left( \int_{k/(n+1)}^{(k+1)/(n+1)} dt \right) p_{n,k}(x; \alpha), \\
&\hspace{15em} \text{(by boundedness of } f) \\
&\leq 2M(n+1) \delta^{-2} \sum_{k=0}^n \left( \int_{k/(n+1)}^{(k+1)/(n+1)} (t-x)^2 dt \right) p_{n,k}(x; \alpha), \\
&= 2M \delta^{-2} (n+1) \sum_{k=0}^n \left( \int_{k/(n+1)}^{(k+1)/(n+1)} (t-x)^2 dt \right) p_{n,k}(x; \alpha) \\
&\leq 2M \delta^{-2} \left( \frac{1}{4n} \right) \text{ (by Lemma 3 and the fact that } x(1-x) \leq \frac{1}{4} \text{ on } [0, 1]). \\
&= \frac{M}{2n\delta^2}
\end{aligned}$$

and hence

$$\begin{aligned} | A_n^\alpha (f, x) - f(x) | &\leq I_1 + I_2 \\ &\leq \frac{\epsilon}{2} + \frac{M}{2n\delta^2}. \end{aligned}$$

For sufficiently large value of  $n$ ,  $\frac{M}{n\delta^2} < \epsilon$  (independent of  $x$ ) and consequently

$$| A_n^\alpha (f, x) - f(x) | < \epsilon.$$

which completes the proof of Theorem 1.

*Proof of Theorem 2*

For arbitrary  $x_1, x_2$  in  $[0, 1]$  and  $\delta > 0$ , we denote  $\lambda = \lambda(x_1, x_2; \delta)$  the integers  $[ |x_1 - x_2| \delta^{-1} ]$ ; the difference  $\{f(x_1) - f(x_2)\}$  is then a sum of  $(\lambda + 1)$  differences of  $f(x)$  on intervals of length  $< \delta$ .

Thus it follows

$$\begin{aligned} &| A_n^\alpha (f, x) - f(x) | \\ &\leq (n + 1) \sum_{k=0}^n \left( \int_{k/(n+1)}^{(k+1)/(n+1)} | f(x) - f(t) | dt \right) p_{n,k}(x; \alpha) \\ &\leq (n + 1) w(\delta)_{L_1} \sum_{k=0}^n \left( \int_{k/(n+1)}^{(k+1)/(n+1)} [1 + \lambda(x, t; \delta)] dt \right) p_{n,k}(x; \alpha) \\ &\quad \text{(by hypothesis together with modulus of the continuity)} \\ &= (n + 1) w(\delta)_{L_1} \left[ \sum_{k=0}^n \left( \int_{k/(n+1)}^{(k+1)/(n+1)} dt \right) p_{n,k}(x; \alpha) \right. \\ &\quad \left. + \sum_{\lambda \geq 1} \left( \int_{k/(n+1)}^{(k+1)/(n+1)} \lambda(x, t; \delta) dt \right) p_{n,k}(x; \alpha) \right] \\ &= w(\delta)_{L_1} \left[ 1 + (n + 1) \delta^{-1} \sum_{\lambda \geq 1} \left( \int_{k/(n+1)}^{(k+1)/(n+1)} |x - t| dt \right) \right. \\ &\quad \left. \times p_{n,k}(x; \alpha) \right] \end{aligned}$$

(equation continued on p. 888)

$$\leq w(\delta)_{L_1} \left[ 1 + (n+1)\delta^{-2} \sum_{k=0}^n \int_{k/(n+1)}^{(k+1)/(n+1)} (x-t)^2 dt \right] \\ \times p_{n,k}(x; \alpha) \Big].$$

Since  $x(1-x) \leq \frac{1}{4}$  on  $[0, 1]$  and so by Lemma 3, we have

$$| A_n^{\alpha}(f, x) - f(x) | \leq w(\delta)_{L_1} \left[ 1 + \delta^{-2} \left( \frac{1}{4n} \right) \right].$$

For  $\delta = n^{-1/2}$ , we get our required result

$$| A_n^{\alpha}(f, x) - f(x) | \leq \frac{5}{4} w(n^{-1/2})_{L_1}.$$

#### REFERENCES

- Anwar Habib, and Umar S. (1980). On generalized Bernstein polynomials. *Indian J. pure appl. Math.*, **11**, 177-89.
- Bernstein, S. (1912-13). Démonstration due Théorème Weierstrass, fondée sur le calcul des probabilités. *Commun. Soc. Math. Kharkow* (2), **13**, 1-2.
- Chenney, E. W., and Sharma, A. (1964). On a generalization of Bernstein polynomials. *Rev. Mat. Univ. Parma* (2), **5**, 77-84.
- Jensen, J. L. W. A. (1902). Sur une identité Abel et sur d'autres formules analogues. *Acta Math.*, **26**, 307-18.
- Kantorovič, L. A. (1930). Sur certains développements suivant les polynômes de la forme de S. Bernstein, I, II. *C. R. Acad. Sci. URSS*, **20**, 563-600.
- Lorentz, G. G. (1953). *Bernstein Polynomials*. University of Toronto Press, Toronto.
- Popoviciu, T. (1935). Sur l'approximation des fonctions convexes d'ordre supérieur. *Mathematica (Cluj)*, **10**, 49-54.